
Divide by Powers of Ten (A)Find each quotient.
2.018 ÷ 10³ = 3.86 ÷ 10⁰ =
7.54 ÷ 10² = 2.03 ÷ 10⁻² =
5.96 ÷ 10¹ = 2.0554 ÷ 10⁻¹ =
7.9 ÷ 10⁰ = 2.4168 ÷ 10⁻² =
7.619 ÷ 10⁻³ = 7.66 ÷ 10⁻¹ =
5.6 ÷ 10⁻² = 4.2 ÷ 10¹ =
1.725 ÷ 10⁻³ = 8.698 ÷ 10¹ =
8.17 ÷ 10¹ = 5.3 ÷ 10⁰ =
5.663 ÷ 10⁻² = 5.9 ÷ 10⁻² =
9.704 ÷ 10⁻¹ = 2.8 ÷ 10¹ =
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Divide by Powers of Ten (A) AnswersFind each quotient.
2.018 ÷ 10³ = 0.002018 3.86 ÷ 10⁰ = 3.86
7.54 ÷ 10² = 0.0754 2.03 ÷ 10⁻² = 203
5.96 ÷ 10¹ = 0.596 2.0554 ÷ 10⁻¹ = 20.554
7.9 ÷ 10⁰ = 7.9 2.4168 ÷ 10⁻² = 241.68
7.619 ÷ 10⁻³ = 7,619 7.66 ÷ 10⁻¹ = 76.6
5.6 ÷ 10⁻² = 560 4.2 ÷ 10¹ = 0.42
1.725 ÷ 10⁻³ = 1,725 8.698 ÷ 10¹ = 0.8698
8.17 ÷ 10¹ = 0.817 5.3 ÷ 10⁰ = 5.3
5.663 ÷ 10⁻² = 566.3 5.9 ÷ 10⁻² = 590
9.704 ÷ 10⁻¹ = 97.04 2.8 ÷ 10¹ = 0.28
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Divide by Powers of Ten (B)Find each quotient.
9.065 ÷ 10⁻² = 9.596 ÷ 10⁻³ =
2.3 ÷ 10⁻¹ = 8.3685 ÷ 10¹ =
2.4 ÷ 10¹ = 7.8 ÷ 10⁻² =
3.769 ÷ 10³ = 6.21 ÷ 10³ =
4.788 ÷ 10¹ = 7.711 ÷ 10³ =
8.231 ÷ 10⁻² = 7.217 ÷ 10³ =
0.2573 ÷ 10¹ = 5.23 ÷ 10¹ =
8.74 ÷ 10³ = 7.312 ÷ 10³ =
8.7 ÷ 10⁰ = 3.5368 ÷ 10⁻² =
8.9376 ÷ 10⁰ = 9.138 ÷ 10² =
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Divide by Powers of Ten (B) AnswersFind each quotient.
9.065 ÷ 10⁻² = 906.5 9.596 ÷ 10⁻³ = 9,596
2.3 ÷ 10⁻¹ = 23 8.3685 ÷ 10¹ = 0.83685
2.4 ÷ 10¹ = 0.24 7.8 ÷ 10⁻² = 780
3.769 ÷ 10³ = 0.003769 6.21 ÷ 10³ = 0.00621
4.788 ÷ 10¹ = 0.4788 7.711 ÷ 10³ = 0.007711
8.231 ÷ 10⁻² = 823.1 7.217 ÷ 10³ = 0.007217
0.2573 ÷ 10¹ = 0.02573 5.23 ÷ 10¹ = 0.523
8.74 ÷ 10³ = 0.00874 7.312 ÷ 10³ = 0.007312
8.7 ÷ 10⁰ = 8.7 3.5368 ÷ 10⁻² = 353.68
8.9376 ÷ 10⁰ = 8.9376 9.138 ÷ 10² = 0.09138
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Divide by Powers of Ten (C)Find each quotient.
0.473 ÷ 10² = 2.234 ÷ 10⁻³ =
1.6179 ÷ 10¹ = 6.6867 ÷ 10¹ =
8.7 ÷ 10³ = 2 ÷ 10⁰ =
4.4 ÷ 10³ = 1.916 ÷ 10³ =
8.4652 ÷ 10⁻³ = 3.68 ÷ 10⁻¹ =
7.3961 ÷ 10³ = 8.382 ÷ 10⁻³ =
9.754 ÷ 10¹ = 9.94 ÷ 10⁻¹ =
4.69 ÷ 10³ = 4.86 ÷ 10² =
7.64 ÷ 10² = 4.89 ÷ 10¹ =
6.1 ÷ 10⁰ = 9.97 ÷ 10³ =
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Divide by Powers of Ten (C) AnswersFind each quotient.
0.473 ÷ 10² = 0.00473 2.234 ÷ 10⁻³ = 2,234
1.6179 ÷ 10¹ = 0.16179 6.6867 ÷ 10¹ = 0.66867
8.7 ÷ 10³ = 0.0087 2 ÷ 10⁰ = 2
4.4 ÷ 10³ = 0.0044 1.916 ÷ 10³ = 0.001916
8.4652 ÷ 10⁻³ = 8,465.2 3.68 ÷ 10⁻¹ = 36.8
7.3961 ÷ 10³ = 0.0073961 8.382 ÷ 10⁻³ = 8,382
9.754 ÷ 10¹ = 0.9754 9.94 ÷ 10⁻¹ = 99.4
4.69 ÷ 10³ = 0.00469 4.86 ÷ 10² = 0.0486
7.64 ÷ 10² = 0.0764 4.89 ÷ 10¹ = 0.489
6.1 ÷ 10⁰ = 6.1 9.97 ÷ 10³ = 0.00997
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Divide by Powers of Ten (D)Find each quotient.
2.66 ÷ 10⁻² = 1.1 ÷ 10⁻³ =
1.8303 ÷ 10² = 9.8 ÷ 10⁻¹ =
5.4 ÷ 10⁻² = 4.7329 ÷ 10⁻² =
5.8817 ÷ 10¹ = 6.5855 ÷ 10² =
4.4 ÷ 10⁻³ = 8.4 ÷ 10² =
6.919 ÷ 10¹ = 9.1 ÷ 10⁻¹ =
0.3662 ÷ 10⁻² = 2.5 ÷ 10⁻² =
9.771 ÷ 10¹ = 7.84 ÷ 10² =
0 ÷ 10⁰ = 9.77 ÷ 10⁻² =
6.0812 ÷ 10⁻² = 8.8 ÷ 10² =
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Divide by Powers of Ten (D) AnswersFind each quotient.
2.66 ÷ 10⁻² = 266 1.1 ÷ 10⁻³ = 1,100
1.8303 ÷ 10² = 0.018303 9.8 ÷ 10⁻¹ = 98
5.4 ÷ 10⁻² = 540 4.7329 ÷ 10⁻² = 473.29
5.8817 ÷ 10¹ = 0.58817 6.5855 ÷ 10² = 0.065855
4.4 ÷ 10⁻³ = 4,400 8.4 ÷ 10² = 0.084
6.919 ÷ 10¹ = 0.6919 9.1 ÷ 10⁻¹ = 91
0.3662 ÷ 10⁻² = 36.62 2.5 ÷ 10⁻² = 250
9.771 ÷ 10¹ = 0.9771 7.84 ÷ 10² = 0.0784
0 ÷ 10⁰ = 0 9.77 ÷ 10⁻² = 977
6.0812 ÷ 10⁻² = 608.12 8.8 ÷ 10² = 0.088
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Divide by Powers of Ten (E)Find each quotient.
2.887 ÷ 10² = 9.3359 ÷ 10⁻³ =
8.9319 ÷ 10⁻¹ = 2.931 ÷ 10⁻³ =
1.543 ÷ 10⁻² = 7.977 ÷ 10⁻³ =
4.47 ÷ 10⁻¹ = 3.2094 ÷ 10³ =
3.554 ÷ 10⁰ = 8.464 ÷ 10⁻¹ =
8.5331 ÷ 10³ = 5.54 ÷ 10⁻¹ =
4.9625 ÷ 10⁻³ = 5.2166 ÷ 10² =
2.2 ÷ 10⁻¹ = 0.301 ÷ 10³ =
6.934 ÷ 10¹ = 3.9375 ÷ 10⁰ =
3.77 ÷ 10⁰ = 6.92 ÷ 10⁰ =
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Divide by Powers of Ten (E) AnswersFind each quotient.
2.887 ÷ 10² = 0.02887 9.3359 ÷ 10⁻³ = 9,335.9
8.9319 ÷ 10⁻¹ = 89.319 2.931 ÷ 10⁻³ = 2,931
1.543 ÷ 10⁻² = 154.3 7.977 ÷ 10⁻³ = 7,977
4.47 ÷ 10⁻¹ = 44.7 3.2094 ÷ 10³ = 0.0032094
3.554 ÷ 10⁰ = 3.554 8.464 ÷ 10⁻¹ = 84.64
8.5331 ÷ 10³ = 0.0085331 5.54 ÷ 10⁻¹ = 55.4
4.9625 ÷ 10⁻³ = 4,962.5 5.2166 ÷ 10² = 0.052166
2.2 ÷ 10⁻¹ = 22 0.301 ÷ 10³ = 0.000301
6.934 ÷ 10¹ = 0.6934 3.9375 ÷ 10⁰ = 3.9375
3.77 ÷ 10⁰ = 3.77 6.92 ÷ 10⁰ = 6.92
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Divide by Powers of Ten (F)Find each quotient.
3.3901 ÷ 10⁻¹ = 7.2385 ÷ 10⁻¹ =
4.7 ÷ 10⁻¹ = 9.6 ÷ 10³ =
4.62 ÷ 10⁻² = 0.264 ÷ 10¹ =
4.89 ÷ 10¹ = 3.843 ÷ 10² =
7.94 ÷ 10² = 2.3177 ÷ 10⁻³ =
6 ÷ 10⁻² = 2.1 ÷ 10¹ =
7.259 ÷ 10⁰ = 5.48 ÷ 10⁰ =
6.1 ÷ 10⁻² = 1.58 ÷ 10⁻¹ =
5.759 ÷ 10³ = 6.2 ÷ 10⁻¹ =
7.46 ÷ 10⁻³ = 9.48 ÷ 10¹ =
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Divide by Powers of Ten (F) AnswersFind each quotient.
3.3901 ÷ 10⁻¹ = 33.901 7.2385 ÷ 10⁻¹ = 72.385
4.7 ÷ 10⁻¹ = 47 9.6 ÷ 10³ = 0.0096
4.62 ÷ 10⁻² = 462 0.264 ÷ 10¹ = 0.0264
4.89 ÷ 10¹ = 0.489 3.843 ÷ 10² = 0.03843
7.94 ÷ 10² = 0.0794 2.3177 ÷ 10⁻³ = 2,317.7
6 ÷ 10⁻² = 600 2.1 ÷ 10¹ = 0.21
7.259 ÷ 10⁰ = 7.259 5.48 ÷ 10⁰ = 5.48
6.1 ÷ 10⁻² = 610 1.58 ÷ 10⁻¹ = 15.8
5.759 ÷ 10³ = 0.005759 6.2 ÷ 10⁻¹ = 62
7.46 ÷ 10⁻³ = 7,460 9.48 ÷ 10¹ = 0.948

Math-Drills.Com



Divide by Powers of Ten (G)Find each quotient.
8.4 ÷ 10² = 9.17 ÷ 10¹ =
3.8 ÷ 10⁰ = 8.993 ÷ 10⁻² =
0.0245 ÷ 10⁻³ = 9.4033 ÷ 10⁻³ =
3.38 ÷ 10⁻³ = 5.73 ÷ 10⁻¹ =
1.0286 ÷ 10³ = 2.4256 ÷ 10² =
6.25 ÷ 10³ = 4.41 ÷ 10³ =
2.9433 ÷ 10⁻¹ = 3.61 ÷ 10⁻² =
7.1087 ÷ 10³ = 6.4 ÷ 10³ =
3.5809 ÷ 10² = 5.8823 ÷ 10² =
9.8025 ÷ 10⁻³ = 1.757 ÷ 10⁻¹ =
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Divide by Powers of Ten (G) AnswersFind each quotient.
8.4 ÷ 10² = 0.084 9.17 ÷ 10¹ = 0.917
3.8 ÷ 10⁰ = 3.8 8.993 ÷ 10⁻² = 899.3
0.0245 ÷ 10⁻³ = 24.5 9.4033 ÷ 10⁻³ = 9,403.3
3.38 ÷ 10⁻³ = 3,380 5.73 ÷ 10⁻¹ = 57.3
1.0286 ÷ 10³ = 0.0010286 2.4256 ÷ 10² = 0.024256
6.25 ÷ 10³ = 0.00625 4.41 ÷ 10³ = 0.00441
2.9433 ÷ 10⁻¹ = 29.433 3.61 ÷ 10⁻² = 361
7.1087 ÷ 10³ = 0.0071087 6.4 ÷ 10³ = 0.0064
3.5809 ÷ 10² = 0.035809 5.8823 ÷ 10² = 0.058823
9.8025 ÷ 10⁻³ = 9,802.5 1.757 ÷ 10⁻¹ = 17.57
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Divide by Powers of Ten (H)Find each quotient.
8.75 ÷ 10¹ = 1.2955 ÷ 10⁻³ =
9.01 ÷ 10⁻¹ = 8.951 ÷ 10⁻² =
9.9 ÷ 10³ = 3.706 ÷ 10³ =
6.8494 ÷ 10³ = 0.43 ÷ 10¹ =
0.731 ÷ 10² = 6.3753 ÷ 10⁰ =
6.494 ÷ 10⁰ = 0.7741 ÷ 10³ =
2.7966 ÷ 10¹ = 0.595 ÷ 10² =
6.81 ÷ 10³ = 6.396 ÷ 10² =
9.1743 ÷ 10⁻³ = 6.31 ÷ 10⁻² =
9.99 ÷ 10² = 2.188 ÷ 10⁰ =
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Divide by Powers of Ten (H) AnswersFind each quotient.
8.75 ÷ 10¹ = 0.875 1.2955 ÷ 10⁻³ = 1,295.5
9.01 ÷ 10⁻¹ = 90.1 8.951 ÷ 10⁻² = 895.1
9.9 ÷ 10³ = 0.0099 3.706 ÷ 10³ = 0.003706
6.8494 ÷ 10³ = 0.0068494 0.43 ÷ 10¹ = 0.043
0.731 ÷ 10² = 0.00731 6.3753 ÷ 10⁰ = 6.3753
6.494 ÷ 10⁰ = 6.494 0.7741 ÷ 10³ = 0.0007741
2.7966 ÷ 10¹ = 0.27966 0.595 ÷ 10² = 0.00595
6.81 ÷ 10³ = 0.00681 6.396 ÷ 10² = 0.06396
9.1743 ÷ 10⁻³ = 9,174.3 6.31 ÷ 10⁻² = 631
9.99 ÷ 10² = 0.0999 2.188 ÷ 10⁰ = 2.188
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Divide by Powers of Ten (I)Find each quotient.
9.06 ÷ 10³ = 3.7 ÷ 10³ =
6.15 ÷ 10⁻¹ = 6.13 ÷ 10² =
2.416 ÷ 10³ = 6.11 ÷ 10⁰ =
8.9 ÷ 10³ = 6.9454 ÷ 10⁻² =
4.559 ÷ 10³ = 0 ÷ 10² =
8.33 ÷ 10⁻¹ = 6.6 ÷ 10⁻² =
0.8221 ÷ 10⁻³ = 8.289 ÷ 10¹ =
9.9 ÷ 10³ = 4.3274 ÷ 10⁻² =
0.16 ÷ 10⁻³ = 2.5789 ÷ 10⁰ =
1.8 ÷ 10³ = 6.5 ÷ 10¹ =
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Divide by Powers of Ten (I) AnswersFind each quotient.
9.06 ÷ 10³ = 0.00906 3.7 ÷ 10³ = 0.0037
6.15 ÷ 10⁻¹ = 61.5 6.13 ÷ 10² = 0.0613
2.416 ÷ 10³ = 0.002416 6.11 ÷ 10⁰ = 6.11
8.9 ÷ 10³ = 0.0089 6.9454 ÷ 10⁻² = 694.54
4.559 ÷ 10³ = 0.004559 0 ÷ 10² = 0
8.33 ÷ 10⁻¹ = 83.3 6.6 ÷ 10⁻² = 660
0.8221 ÷ 10⁻³ = 822.1 8.289 ÷ 10¹ = 0.8289
9.9 ÷ 10³ = 0.0099 4.3274 ÷ 10⁻² = 432.74
0.16 ÷ 10⁻³ = 160 2.5789 ÷ 10⁰ = 2.5789
1.8 ÷ 10³ = 0.0018 6.5 ÷ 10¹ = 0.65
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Divide by Powers of Ten (J)Find each quotient.
4.787 ÷ 10² = 0.9 ÷ 10¹ =
4.3 ÷ 10³ = 2.148 ÷ 10⁻² =
3.7843 ÷ 10³ = 0.314 ÷ 10² =
1.346 ÷ 10⁻¹ = 6.83 ÷ 10⁻³ =
0.7 ÷ 10⁻² = 6.5352 ÷ 10⁻¹ =
3.9307 ÷ 10¹ = 6.75 ÷ 10² =
9.36 ÷ 10² = 7.5647 ÷ 10⁻¹ =
9.2886 ÷ 10⁻¹ = 8.15 ÷ 10¹ =
0.137 ÷ 10³ = 9.3 ÷ 10⁻² =
1.121 ÷ 10² = 4.01 ÷ 10⁻¹ =
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Divide by Powers of Ten (J) AnswersFind each quotient.
4.787 ÷ 10² = 0.04787 0.9 ÷ 10¹ = 0.09
4.3 ÷ 10³ = 0.0043 2.148 ÷ 10⁻² = 214.8
3.7843 ÷ 10³ = 0.0037843 0.314 ÷ 10² = 0.00314
1.346 ÷ 10⁻¹ = 13.46 6.83 ÷ 10⁻³ = 6,830
0.7 ÷ 10⁻² = 70 6.5352 ÷ 10⁻¹ = 65.352
3.9307 ÷ 10¹ = 0.39307 6.75 ÷ 10² = 0.0675
9.36 ÷ 10² = 0.0936 7.5647 ÷ 10⁻¹ = 75.647
9.2886 ÷ 10⁻¹ = 92.886 8.15 ÷ 10¹ = 0.815
0.137 ÷ 10³ = 0.000137 9.3 ÷ 10⁻² = 930
1.121 ÷ 10² = 0.01121 4.01 ÷ 10⁻¹ = 40.1
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